BY PHYSICS WALLAH

B :
@ ONLYIAS

UPSC MAINS
2021




P ¢
() ONLYIAS

BY PHYSICS WALLAH

UPSC Mains GS 1 Paper 2024

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Keep the word limit indicated in the questions in mind.

Fadfew ¥ IW-AfeH Frar aF e 3K nfds a7 & gfeq Radat 1 WaifFra fifawl
(3 150 sl A &S

Underline the changes in the field of society and economy from the Rig Vedic to the later
Vedic period. (Answer in 150 words) 10

gfaIor IR & FoT T Wifecd & ReE F FA & deddl F NG FT Jediwa ATl
(3WX 150 ereET A o)

Estimate the contribution of Pallavas of Kanchi for the development of art and literature of
South India. (Answer in 150 words) 10

am-@ﬁmw“aﬁﬁmﬁ:mmmmaﬁgmmqﬁmﬁﬁmmm
(3 150 erseY # iAW)
What were the events that led to the Quit India Movement? Point out its results.

(Answer in 150 words) 10

AL WAE F AIUAT A JEf FUT 2§ IWEAHT THaal & AT A FF wenfaa
HIAT 8?2 @T 150 el # o)
Whatis sea surface temperaturerise? How does it affect the formation of tropical cyclones?

(Answer in 150 words) 10
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BIT U A Joer A 93 A AHOUF varfAAt F w4 wf¥a a8 RErwedar qut #r
eufaat & 3mad & suhr REwar fifaw (3R 150 eat H AfAw)

Why do large cities tend to attract more migrants than smaller towns? Discuss in the light
of conditions in developing countries. (Answer in 150 words) 10

‘Sl e’ Hr g Fa1 82 surEar fifSw) (39T 150 el &
gifs)

What is the phenomenon of 'cloudbursts? Explain. (Answer in 150 words) 10

‘Saaifeah fia (SAfeF fawex) @ srauron Fr 2 aT a7 g S Rufa @ sk
AW B2 AFaR & Farsv (3w 150 el # )

Whatis the concept of a 'demographic winter'? Is the world moving towards such a situation?
Elaborate. (Answer in 150 words) 10

ARrF FHETedT, APF Asgarar va AT wAFaEor F T FAR F Tose AT FREA
A TREeT 3R FRfmaT § dfF TWFERl A oo 7 @ w4 Agear 87
(3T 150 ersal & difSv)

Distinguish between gender equality, gender equity and women's empowerment. Why is it
important to take gender concerns into account in programme design and implementation?
(Answer in 150 words) 10

A FATTIF-31F va7 arelt sfaal & @i saenda fFae 7o g av @@ 8, g
HRefAF RaE § TR & ag a4 99 21 @ fifGw) (3R 150 2reei & &faw)

Inter caste marriages between castes which have socio-economic parity have increased, to
some extent, but this is less true of interreligious marriages. Discuss.

(Answerin 150 words) 10

. R & aEnfas-anfds el @ e & R, R-wwawlt weredl v fash aE & &
P YHR &1 AT Jaifts 3gant e @ 150 wsal & difaw)

In dealing with socio-economic issues of development, what kind of collaboration between
government, NGOs and private sector would be most productive?

(Answer in 150 words) 10
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11. "gTalif® A e a1l Ao 7@ ¢ AfFaT a9 FaT T AaEgFAT F AT A 3FC
3yafeudl & FRor 3l o 37 sga w4 & I1e R Srar 1t Reowoht fif
(3w 250 ersal # difSw)

"Though the great Cholas are no more yet their name is still remembered with great pride
because of their highest achievements in the domain of art and architecture." Comment.

(Answer in 250 words) 15

. IE FeAT Fg1 aF 30Aa ¢ T guw Reagey A uFa-agaa ) e @ F e @
AT °T1? (37 250 ersal & &f9v)

How far is it correct to say that the First World War was fought essentially for the preservation

of balance of power? (Answer in 250 words) 15

AR # FFafeT 3R FR sqEhl & g & fw s f sigafw wifea wwt aF
SWErT o2 (3T 250 ersai A )

How far was the Industrial Revolution in England responsible for the decline of handicrafts

and cottage industries in India? (Answer in 250 words) 15

. T °Té A e aTAar F R Prae I W@ ¥ Ig aRa B wie gRaT F FH wnfaa

X HHdT § ? BT 250 ereal # Qo)
The groundwater potential of the gangetic valley is on a serious decline. How may it affect

the food security of India? (Answer in 250 words) 15

. 3R Areefaw 3t IRk SiRafew =1 23 &9 3ART @ &2
(3™ 250 gl 7 o)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words ) 15

16. ThaFer Fa1 T2 ATFTH A TE F ITEUE F aE F FWFR cfawer F4t 3@ &2
(3T 250 wsal # &)

What is a twister? Why are the majority of twisters observed in areas around the Gulf of
Mexico?
(Answer in 250 words) 15
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17. 8T AT F471 37 3F RARduyar & Fw vor Bew 32 oRa & & AT &1 e
fraar sy 82 (39T 250 2rsel F fSw)

What is regional disparity? How does it differ from diversity? How serious is the issue of

regional disparity in India? (Answer in 250 words) 15

. gaAEar AR wwfoew F f ame Aifadt F aaeg, wh aw dfRa gt B afaue
AT IRETIT FFRICHF FIAS F1 G 19 T8 e @1 §1 ool Hifgw
(3 250 2raT & &f9w)

Despite comprehensive policies for equity and social justice, underprivileged sections are
not yet getting the full benefits of affirmative action envisaged by the Constitution.

Comment. (Answer in 250 words) 15

. Tedltor & Rffew qeit #r g, gar g sfraRa aftant @Err awd vaw & gefr A
?1 39 vgfa A 39T AfFded FadaaT U9 IRAX & AT FEUT W FAT G STem 82
(3 250 2rsel & fSw)

Globalization has increased urban migration by skilled, young, unmarried women from
various classes. How has this trend impacted upon their personal freedom and relationship

with family? (Answer in 250 words) 15

. 39 FfRAT F1 AT Ao fifST F aRT A wegfar [ 3k afes-
e Aaraanst & fw v =/ geEeay 2 (39X 250 2reaY & W)

Critically analyse the proposition that there is a high correlation between India's cultural
diversities and socio-economic marginalities.

(Answer in 250 words) 15
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